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1. (20 points)

1A) (15 points) Simplify the block diagram as shown in the figure.

1B) (5 points) Obtain the transfer function C(s)/R(s).
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2. (20 points)
From the given electrical system, determine the system equations and the transfer
function, V,(s)/Vi(s).




3. (20 points)
From the given mechanical system, obtain the state-space representation where uy
and u, are the force inputs and y; and y, are the displacement outputs.
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4. (20 points)
A system has transfer function as follow
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Determine time response c(t) when the input R(s) is the unit step function.



